tbar{t}} [p b/ G eVZ]

G‘—O'IIU
cdot m.

t,1
T

d

Ratio to ATLAS

d* {p

o
&

0.5

1SQOO va PP

_| I T I T | T I I |— 9
C
- top o
P_" (ATLAS ttbar) o
;
=
m ATLAS 1=
—F— Pythia 6.428 350 N
| 4 Pythia 6.428 351 =
— - ¥-. Pythia 6.428 352 15
[ ...A- Pythia 6.428 353 —1%
_ —-©o-- Pythia 6.428 354 &
| --%-- Pythia 6.428 355 |
| & WPythia 6.428 356 B
“Pythia 6.428 357
o APythia 6.428 358 -3
BBt ) 3
<
o
™
| |
— —.=
— I
- 1.8,
B G T <
- NN — O
) =
— o
Q
| — 0
o
o
| - o
| . . . ] . . || &
I ' ! ' ' ! ' ' =
— -2
________________ ¥ 1
B B----ooooTmEEREEEE _
| —0.5
| 1 1 1 1 | 1 1 " |
0 500 1000



	Contents
	Page 1


